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* a #E20cm A =(1+0.3"2)"0.5 X H
=1.044H m2

fAAa> 91—k 18-8-40(F4F) V =1.044Hx0.2/3
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H BB A Tahamee m2 97.52
B #1 # mszsmseon  23.90/10 m2 2.39
ERa 2 —k (1.om&=YV#=E)
a2 91—k 18-8-40FH) V=1/2x0.2x(B+B-0.12)
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3 786| 029 02900 228| 118 1.180 927 B=1.500m
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No. 0 3.00 3.00 0.82
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No. 1 +1510| 1495 244 2720 4066| 244 2720 4066| 067 0670 10.02 |G =)
No. 1 +1510| 0.0 122 1830 0.0 (#% = 4an)
No. 2 4.65 133 1275 593
No. 2 +12.14| 12.10 137 1350 16.34
No. 3 8.00 135 1.360 10.88
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£ 5 fHEE R hiR T & =1 B
£ a3 B i = B /N F & &

(ST v AMEZ KRB ESTEE]
PR ki T-2 2500(B) % 100(t) X 1000(L) ¥ 1
% & S L o L 1.000m " 2
B #h KR z5zsft=iomm | A=1.000%0.12 m2 0.12
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